Fluency

Use < > or = to complete the
statements below

True or false?
1000m =1km
1000cm = 1m
1000ml = 1
1000g = 1kg

Bryan is 2.68m tall.
He is99cm tallerthan his sister.

How tall is his sister?
Give your answer in centimetres.

Reasoning

Problem Solving

Adam makes 2.5 litres of lemonade fora

charity event. He pours it into 650ml
glassestosell.

He thinks he can sell 7 glasses.

Is he correct?

Prove it.

A 5p coin has a thickness of 1.6mm

Jake makesa tower of 5p coins worth
90p.
What is the height of the coinsincm?

Laura buys 3500g of potatoesand 1500g

of carrots,
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She pays with a £20 note.
How much change doesshe get?

A plank of wood is 5.8m long.
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Two lengths are cut from the wood.
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How muchwood is left?

Colais sold in bottles and cans.
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Yasmin buys5 cans and 3 bottles.
She sellsthe colain 100ml glasses.
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She sells all the cola.
How many glasses doesshe sell?



